CHAPTER 10 ALTERNATE PROBLEMS

Problem 10.1A

Effects of Transactions on Financial Statements
Fifteen transactions or events affecting Drillmasters, Inc., are as follows:

1. Made a year-end adjusting entry to accrue interest on a note payable that has the interest rate stated separately from the principal amount.

2. A liability classified for several years as a long-term becomes due within the next 12 months.

3. Recorded the regular weekly payroll, including payroll taxes, amounts withheld from employees, and the issuance of paychecks.

4. Earned an amount previously recorded as unearned revenue.

5. Made arrangements to extend a bank loan due in 30 days for another 24 months.

6. Made a monthly payment on a fully amortized installment note payable.  (Assume this note is classified as a current liability.)

7. Called bonds payable due in five years at a price above the carrying value of the liability in the accounting records.

8. Made a monthly payment on an operating lease.

9. Made a monthly payment on a capital lease.  (Assume only six months remain in the lease term.)

10. Recorded pension expense on a fully funded pension plan.

11. Recorded nonpension postretirement expense; the liability is unfunded, but 25% of the amount of expense will be funded within 12 months.

12. Recorded income taxes expense for the year, including a considerable amount of deferred taxes (assume deferred taxes are long-term liabilities).

13. Recorded an estimated liability for warranty claims.

14. Entered into a three-year commitment to buy all supplies from a particular supplier at a price 15% below market.

15. Received notice that a lawsuit has been filed against the company for $10 million.  The amount of the company’s liability, if any, cannot be reasonably estimated at this time.

Instructions
Indicate the effects of each of these transactions upon the following elements of the company’s financial statements.  Organize your answer in tabular form, using the column headings shown below.  Use the following code letters to indicate the effects of each transaction on the accounting element listed in the column heading: I for increase, D for decrease, and NE for no effect.
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Problem 10.2A

Balance Sheet Presentation of Liabilities

The following are selected items from the accounting records of Miami Juice for the year ended December 31, 2002:


Note payable to Southeast Bank

$   300,000


Income taxes payable

25,000


Accrued expenses and payroll taxes

33,000


Mortgage note payable

880,000


Accrued interest on mortgage note payable

6,000


Trade accounts payable

340,000


Unearned revenue

28,000


Potential liability in pending lawsuit

1,000,000

Other Information

1. The note payable to Southeast Bank is due in 90 days.  Arrangements have been made to renew this note for an additional 24 months.

2. The mortgage requires payments of $8,000 per month.  An amortization table shows that its balance will be paid down to $865,000 by December 31, 2003.

3. Accrued interest on the mortgage note payable is paid monthly.  The next payment is due near the end of the first week in January 2003.

4. Miami Juice has been sued for $1,000,000 in a product damage case.  It is not possible at this time, however, to make a reasonable estimate of the possible loss, if any, that the company may have sustained.

Instructions

a. Using the information provided, prepare the current and long-term liability sections of the company’s balance sheet dated December 31, 2002.  (Within each classification, items may be listed in any order.)

b. Explain briefly how the information in each of the four numbered paragraphs above influenced your presentation of the company’s liabilities.

Problem 10.3A

Notes Payable: Accruing Interest

During the fiscal year ended December 31, Duckworth Corporation engaged in the following transactions involving notes payable:

Aug. 1
Borrowed $18,000 from Sugar Hollow Bank, signing a 60-day, 10% note payable.

Sept. 16
Purchased office equipment from Earthtime Equipment.  The invoice amount was $24,000, and Earthtime agreed to accept, as full payment, on 12%, three-month note for the invoice amount.

Oct. 1
Paid Sugar Hollow Bank the note plus accrued interest.

Nov. 1
Borrowed $100,000 from Sandra Duckworth, a major corporate stockholder.  The corporation issued Duckworth a $100,000, 15%, 120-day note payable.

Dec. 1
Purchased merchandise inventory in the amount of $5,000 from Teller Corporation.  Teller accepted a 90-day, 14% note as a full settlement of the purchase.  Duckworth Corporation uses a perpetual inventory system.

Dec. 16
The $24,000 note payable to Earthtime Equipment matured today.  Duckworth paid the accrued interest on this note and issued a new 30-day, 16% note payable in the amount of $24,000 to replace the note that matured.

Instructions

a. Prepare journal entries (in general journal form) to record the above transactions.  Use a 360-day year in making the interest calculations.

b. Prepare the adjusting entry needed at December 31, prior to closing the accounts.  Use one entry for all three notes (round to the nearest dollar).

c. Provide a possible explanation why the new 30-day note payable to Earthtime Equipment pays 16% interest instead of the 12% rate charge on the September 16 note.

Problem 10.4A

Preparation and Use of an Amortization Table

On October 1, 2002, Digit singed a 5-year, $50,000 note payable to 12th National Bank in conjunction with the purchase of equipment.  The mortgage note calls for interest at an annual rate of 12% (1% per month).  The note is fully amortizing over a period of 60 months.


The bank sent Digit an amortization table showing the allocation of monthly payments between interest and principal over the life of the loan.  A small part of this amortization table is illustrated below.  (For convenience, amounts have been rounded to the nearest dollar.)

	Amortization Table

(12%, 5-Year Note Payable for $50,000;

Payable in 60 Monthly Installments of $1,112)

	Interest

Period
	Payment

Due
	Monthly

Payment
	Interest

Expense
	Principal

Reduction
	Unpaid

Balance

	Issue date
	Oct. 1, 2002
	(
	(
	(
	$50,000

	1
	Nov. 1
	$1,112
	$500
	$612
	49,388

	2
	Dec. 1
	1,112
	494
	618
	48,770


Instructions

a. Explain whether the amounts of interest expense and the reductions in the unpaid principal are likely to change in any predictable pattern from month to month.

b. Prepare journal entries to record the first two monthly payments on this mortgage.

c. Complete this amortization table for two more monthly installments.

d. Will any amounts relating to this 5-year mortgage can be classified as current liabilities in Digit’s December 31, 2002, balance sheet?  Explain, but you need not compute any additional dollar amounts.

Problem 10.5A

Bond Interest (Bonds Issued at Par)

Deep River Company obtained authorization to issue 10-year bonds with a face value of $5 million.  The bonds are dated June 1, 2002, and have a contract rate of interest of 12%.  They pay interest on December 1 and June 1.  The bonds are issued on September 1, 2002, at 100 plus three months’ accrued interest.

Instructions

Prepare the necessary journal entries in general journal form on:

a. September 1, 2002, to record the issuance of the bonds.

b. December 1, 2002, to record the first semiannual interest payment on the bond issue.

c. December 31, 2002, to record interest expense accrued through year-end.  (Round to the nearest dollar.)

d. June 1, 2003, to record the second semiannual interest payment.  (Round to the nearest dollar.)

e. What was the prevailing market rate of interest on the date that the bonds were issued?  Explain.

Problem 10.6A

Amortization of a Bond Discount and Premium

On September 1, 2002, Enjoy Toys Company issued $10 million in 10-year, 12% debenture bonds.  Interest is payable semiannually on March 1 and September 1.  Bond discounts and premiums are amortized by the straight-line method at each interest payment date and at year-end.  The company’s fiscal year ends at December 31.

Instructions

a. Make the necessary adjusting entries at December 31, 2002, and the journal entry to record the payment of bond interest on March 1, 2003, under each of the following assumptions:

1. The bonds were issued at 97.  (Round to the nearest dollar.)

2. The bonds were issued on 102.  (Round to the nearest dollar.)

b. Compute the net bond liability at December 31, 2003, under assumptions 1 and 2 above.  (Round to the nearest dollar.)

c. Under which of the above assumptions, 1 or 2, would the investor’s effective rate of interest be higher?  Explain.

Problem 10.7A

Reporting Liabilities in a Balance Sheet

The following items were taken from the accounting records of Connecticut Utility Company for the year ended December 31, 2002 (dollar amounts are in thousands):


Accounts payable

$     52,000


Accrued expenses payable (other than interest)

9,400


8% Bonds payable, due Mar. 1, 2003

200,000


6% Bonds payable, due Aug. 1, 2003

140,000


Unamortized bond discount (6% bonds of ’03)

140


10% Bonds payable, due April 1, 2015

250,000


Unamortized bond premium (10% bonds of ’15)

1,900


Accrued interest payable

2,750


Bond interest expense

55,000


Other interest expense

12,000


Notes payable (short-term)

80,000


Lease payment obligations – capital leases

17,000


Pension obligation

385,000


Unfunded obligations for postretirement benefits other than pensions

68,000


Deferred income taxes

120,000


Income taxes expense

53,000


Income taxes payable

15,000


Operating income

275,000


Net income

120,000


Total assets

1,950,000

Other Information

1. The 8% bonds due in March 2003 will be refinanced in February 2003 through the issuance of $250,000 in 9%, 20-year general debentures.

2. The 6% bonds are August 1, 2003, will be repair entirely from a bond sinking fund.

3. CT Utility is committed to total lease payments of $12,100 in 2003.  Of this amount, $6,100 is applicable to operating leases, and $6,000 to capital leases.  Payments on capital leases will be applied as follows: $2,100 to interest expense and $3,900 to reduction in the capitalized lease payment obligation.

4. CT Utility’s pension plan is fully funded with an independent trustee.

5. The obligation for postretirement benefits other than pensions consists of a commitment to maintain health insurance for retired workers.  During 2003, CT Utility will fund $15,000 of this obligation.

6. The $15,000 in income taxes payable relates to income taxes levied in 2002 and must be paid on or before March 15, 2003.  No portion of the deferred tax liability is regarded as a current liability.

Instructions

a. Using this information, prepare the current liabilities and long-term liabilities sections of a classified balance sheet as of December 31, 2002.  (Within each classification, items may be listed in any order.)

b. Explain briefly how the information in each of the six numbered paragraphs affected your presentation of the company’s liabilities.

c. Compute as of December 31, 2002, the company’s (1) debt ratio and (2) interest coverage ratio.

d. Based solely on information stated in this problem, indicate whether this company appears to be an outstanding, medium, or poor long-term credit risk.  State specific reasons for your conclusion.
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